
Securing cargo. We invented the concept.

80
31

36
_D

AT
 A

  

Utlösare S-serien Manuell Enkel
Release manual single/Auslöser handbuch single

Art.nr 803136



 

A

Weight*BezeichnungDescriptionBenämningPcsPart.noPos.
1,0 kgAuslöserReleaseUtlösare bankemontage18021741
1,4 kgAuslöserbefestigungAttachment for releaserUtlösarfäste Dubbelt18031662
1,2 kgAuslöserbefestigungAttachment for releaserUtlösarfäste Dubbelt18004282.1
0,0 kgScheibeWasherBricka BRB M14 FZB22119112.2
0,1 kgSchraubeScrewSkruv M6S M14x40 FZB22111022.3
0,9 kgDraht-kitWire kitVajersats utlösare S-serien18021793
0,0 kgScheibeWasherBricka BRB M12 FZB12119073.1
0,6 kgDrahtseilWireStållina 3-5 mm 42-TR FZ12200603.2
0,0 kgKauscheThimbleKaus 5 mm DIN6899B galv28002123.3
0,0 kgWirelockWirelockVajerlås28002133.4
0,1 kgSchraubeScrewSkruv M6S M12x140 FZB12110983.5
0,0 kgGriffHandleVajerhandtag L180 14023393.6
0,2 kgAugenschrauben MutterEye bolt nutLyftöglemutter M1212119993.7
0,0 kgSchraubeScrewSkruv M6S M12x30 FZB22110824
0,0 kgSicherungsmutterLock nutLåsmutter LM6M låg M12 FZB22118575
0,0 kgScheibeWasherBricka BRB M12 FZB22119076

Securing cargo. We invented the concept.

80
31

36
_D

AT
 A

 

ExTe Fabriks AB, SE-820 62 Färila Sweden. Tel: +46 (0)651 175 00. E-mail: info@exte.se www.exte.se

Release manual single Page 2 

Stängd/Closed
Utlöst/Released

A

11
9

21° (2x) 135

244

1

4

2.3

2.2

6

5

2.1

80 Nm

55 Nm

ExTe förbehåller sig rätten att göra ändringar i specifikationer och 
annan information i detta dokument utan förhandsinformation.
 
ExTe reserves the right to make changes in specifications and other 
information contained in this document without prior notice.
 
ExTe behält sich das Recht vor, Änderungen an Spezifikationen und anderen 
Informationen in diesem Dokument ohne vorherige Ankündigung vorzunehmen.

3.2

3.4
3.6

3.3

3.7

3.53.1
3

* Teoretiska

* Theoretical

* Theoretisch


